20194E6 H16 H NJDCH v Aidie
Hii TR

XRS 0 XRL 0 MAS 2 MAL 0
JAS| 7 JAL | 0 GAS| 4 MBL|[ 0
JBS| 30 JBL| 5 MBS | 2
Jjcs| 25 jcL| 8 GBs| 3
JDS| 12 DL | 5
JNS| 0 INL| 0
A 5 A PR
H5ES EF4 N—t—-%2 | JAS|JUBS|JBL|JCS|JCL|JIDS| JDL |MAS|GAS|MBS| GBS
| 73 |FI F=—B [EBD HF DS
51 | fi2— INE B )
22 |PAIER —X falER  #0-F BS
79 |BA[ER Bh— INEFE BT DS
34 |pIER —=5 ;IO FF BS
28 |&EF BA INE {EF BS GAS
Ly 1 |fF2H BHEZ |F3HE FF | AS
0 |FEE R= WA 755 BS cL
20 |FiE JThy =& T BS
5| 24 |#EYT IEE— T RF BS
43 | L% & D BRF cS
60 |AIL & Al =LK CS DL
B 2 | KHRE EZ B BT AS BL
31 |RW E A EiF BS
4 (MR FHk IS i AS MAS
46 |3kEr 1R RE cS
81 |/hMEE R =H AF MAS
I [hE =5 NE BR BL
80 |1HEF 8T HE @1 DS
68 |BEH —%k B SR CL
M| 58 |MAK BXK BR ZF cS
21 |8 B’k NS HBF BS GAS
17 |[&F —Ff AR IEXE BS
26 |&F FE &F M BS
16 3RS /\BEA RN ZET BS
45 |JIlF Z£EBH ey BT cS DL
44 |JIl4 EKER |Bin F=F cS
x| 70 |Fih =i B BT DS
27 |y F— Hih 1RF BS
19 |FH & RO F1+F BS
| 35 |/IMNR AT ik HEET BS
32 |IMFR B EHEHF F BS
12 [/NF IE— LtH ¥FF BS | BL
10 [/M#R BED | B BE BS
23 |Bald Fk HU BERF BS
63 /M=l B— = EEF CS




HE EF4 N—t—-%2 | JAS|JUBS|JBL|JCS|JCL|JIDS| JDL |MAS|GAS|MBS| GBS
15 /L 2 N BEF BS | BL
6 |UTEk Fah i XEF | AS
65 |[HA BF iR R CL DL
S| 14 |HFE A He HEF BS
74 |ERKR AREMIEAR FSF cS
82 |{kf%& BH FR ELF MBS
67 |[{kiE W= WWHE ¥F cL
L | 29 |%8 ZiE =A MF BS
77 |EK ET HE EKET DS
40 |tEF BB A RF cS
¥ | 37 |#K E /AR FYX BS
7 B RFE  |EH #F AS
66 |7E)I #BX Bl b CL | DS
| 75 |BE #M— INIBINES DS
8 |EA XA HMx BERZE BS MBS
= | 56 |B¥ fEk 28 —& CS | CL
50 |E=E HE 1B BF cS
48 |7EiR B MR SHF cS DL
33 (M EFE & Bk BS GAS
54 |BFE & B VYVF CS
52 |EH %7 a5 REF cS
2| 718 |XEB HRzH |[£tB BF DS
& | 13 |BFRE Ek ARE HEF BS
71 |fEk EAl &k EXT DS | DL
64 [EH FE gt EBF cS | CcL
57 |2H #8 lh EF cS
| 76 | BX g EF DS
3 |HhF BEE R HF AS
| 59 |@AxT & KL B CS GBS
x| 62 |ff FESR it BT cS
9 (7R =5 EZE ETF BL
Al 11 |BERK BE e BRF BS GBS
61 |f8R A Fih EEF cS
F | 47 |gIH N\E BIE =¥ CS GBS
55 |ETIL 73 EH HF CS
69 |#AE 18 JtE RF CL
H 5 |=i#E M =8 &I AS
& | 41 |FHE g FH EF cS
©|25 |BH BRE =i E=F BS
42 | BR HEi g FOF cS
9 UK JAX BRK AEF BS
Ww| 36 |HLt & D EF BS GAS
Y | 18 |[HAQ 1#EF0 hH F=F BS
H| 53 |BER H=E FH =F CS
49 |FOE AR e #5F cS
72 | EB E=A BEF DS




